. Paper /Subject Code: 71801 / Strategic Management 5 €
M K, ] &2

Duration: 2 hours Marks: 60

Note: 1) All questions are compulsory and carries 15 marks each.
2) Figures to the right indicate full marks.

Q1. a) What is strategic management? Explain the risks of strategic management. l
b) Describe briefly any one level of strategies of a business unit.
‘ OR <
¢) Explain the various financial strategies of a business organisation. ‘ 15
d) Write a note on environmental scanning.

Q2. a) Discuss “Diversification as an alternative strategy of internal growth of a business firm™. 15
b) Describe BCG matrix as a technique of corporate portfolio analysis.
‘ OR
c) Explain the challenges faced by the management in resource allocation. L5
d) What is budgetary control? What are its advantages?

Q3. a) What is corporate restructuring? Discuss the causes of corporate renewal strategies. 3
b) Explain the problems of Indian strategic alliance.
OR
¢) What is PPP Model? Discuss the governing strategies of PPP model. 15
d) Explain the limitations of Information Technology in business.

Q4. A) Select the appropriate option and fill in the blanks: _ ' 5
1. The term ‘Strategy’ is taken from the “=---coeci_o o word ‘Strategos’.
a) Greek b)Latin  ¢)French d) Japanese
P Environment relates to human population with reference to its size. density.
age, literacy rate etc. '
a) Economic b) Political ¢) Demographic ~ d) Legal
3. Seny-Erickson is one of the famous example of @ ==-=~c-memmee
a) Franchising b) Diversification  ¢) Joint-venture d) Divestment
. 4. Faulty Pricing Strategy is the -=----==-------——- related causes of Corporate Renewal.
a) Production b) Management ¢) Human Resource d) Finance
5. in BPR™ R” stand for==-=--mseceacoccacs ‘
a) Re-engineering  b) Relative ~ ¢) Re-organise d) None of these

B) State whether the following statements are True or False: 5
' I. The analysis of external business environment helps to identify the strength and weakness

of an organisation;

The red zone in GE Nine Cell matrix indicates ‘Go ahead’ with growth strategy.

The strategic management process is meaningless without strategic evaluation and

control.

. Information Technology is useful in every phase of strategic management.

5. The national manufacturing policy under Make in India Model helps in overcoming

industrial sickness.
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Paper / Subject Code: 71801 / Strategic Management

C) Match the Following:

1) Dividend strategy a) Closing of business unit |
-2) Liquidation Strategy b) Type of Strategic Alliance
: 3) Joint Venture ¢) Contribution of IT Sector
4) Online trading - d) Outsourcing of knowledge based services
_ 5) KPO e) Financial Strategy
OR

Q4 Wmte Short Note on: (any 3)

1. Reasons for growth of BPO in India
Business Process Reengineering
Cope up strategies of Disaster management
Challenges of business Start-ups
Make in India Model

TR SREES
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N.B.:

2.

d)
a)
b)

\¢)
d)

Paper / Subject Code: 71802 | Economics for Business Decision / %3

Q. P. Code : 2914,

(2 Hours ) ~( Total Marks : 60 )

Please check whether you have got the right question paper

1. All questions are compulsory. LR s ;
2. Figures to the right indicate full marks assigned o each quesﬁon. :
3. Draw neat diagrams wherever necessary. ; 7,

Explain Veblen and bandwagon effect in detail. ,

Discuss the application of elasticity of demand and supply to economic issues
Explain various methods of price control with reference to- minimum_floor and
maximum ceilings. Sk Gt )

With the help of income consumption curve, discuss of change in-income on
consumer’s equilibrium. ’ :

Diagrammatically explain least cost factor coﬁtbination for.a given output.
Discuss in detail the cost reduction technique through experience. .
GV T PR IS T

Distinguish between intcina‘lA and external economies of scale.
Amit juice sandwitch.center at Agra gets their income mainly from tourists. ABCD
college comes for industrial visit in-Agra and gives an order for 18,000.
The cost for doing this work is calculated as i o '

Wages, 05 E A & 55,000

Raw materials L E I 9.600
Fixed Costs T+ 10,000

Would you advise the firm to accept this order? If so why?

Explain various methods of measuring monopoly power.

d I}lustrategthe_ dominant firm price leadership:mode! in oligopoly.

847 : , OR
Explaih the application of model of kprisoner’s’dilemma in market decision.

- MMW Luxury car manufacturing company in India was founded in the year 2006
* and the first ear was launched in 2007. The company maintained an aggressive
“stance and launched several vehicles at different price points.

MMW: was positioned as an aspirational brand for young entrepreneurs and
senior executives and adopted innovative strategies to reach the segment. It also

developed exclusive dealerships, which were used as touch points to interact with

the customers. ;

‘Within three years, MMW went on to become the top luxury car manufacturer
in India, surpassing Benzon and Porsch, which had been present in the country for
more than a decade. The case lists the strategies adopted by MMW on its journey to
reach top position and discuss the challenges it is likely to face from existing and
new competitors.

a. Identify the market structure mentioned in the case and justyfy.
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Paper / Subject Code: 71802 | Economics for Business Decision

4 Q. P. Code : 29147
b. Discuss the strategies used by MMW to top luxury car market based on the
case. ’
4. a) Choose the right option from the following : ; (07)

i) A production function is used by management to know
a. The amount of input to buy.
b. The amount of input to use.

c. The amount of output per unit of each input.
d. The amount of output using all mputs efﬁ01ently
ii)  Alternative cost is also known as
a. Incremental cost.
b. Opportunity cost.
c. Real cost.
d. Money cost. :
iii)  The problem with marginal concept is that
a. Change in variables may not be inbulk.
b. Change in variables may ‘not be:in- smgle umt
c. Outflow and inflow of resources may not be equal.
d. Outflow and. mﬂow of resources may. not be simultaneous.
iv)  Which of the following is correct for consumet’s equ111br1um°
a. Utility i is mammxsed‘ at'the tangenc.y of_.budget line to-an indifference
curve. - : :
b. Atthe opt1mal pomt slope of md1fference curve is equal to the slope
of! budget line. et
s Atthe point. of equlhbrlum consumer satxsfactlon is highest.
d. All of the above.
V) oA pubhc good will probab‘iy
a. be cxpenswe in free market
b. be overprovided in free market.
¢ notto be prov:ded in free market
-+ d. ‘haveno opportumty cost.
vi) Negatwe produotlon ‘externality means .
~-a. Social marginal costis greater than private marginal cost.
b. Soual marginal benefitis greater than private marginal cost.
c. -Social marginal cost is greater than private marginal benefit.
d. Social marginal cost is less than private marginal cost.
vii) If*a'ﬁr‘rﬁ earn ri’ormai_;proﬁt, :
a. They will try to leave the industry.
b. Others will join the industry.
c. - Total Revenue = Total Cost.
~d. No pro‘_ﬁ"i is made in accounting terms.
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b) Give Precise meaning of the following :
a: Economic profit.
b." Substitution effect.
\;,;)c Ridgelines.
@ | d. Barometric firm.
) OR
4. Write short notes on any three of the following :
._a’ Incremental and marginal principles.
\b,/Paradox of bumper harvest.
é/’f’gblic policy towards monopoly po
d¢._Non-price competition under oligo
e r,,N’Esh equilibrium.
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ARAY Lom / Paper / Subject Code: 71803 / Cost & Management Accounting / :‘, S

Time: 2 Hours Total Marks: 60

N. B.: (1) All questions are compulsory carrying equal marks.

(2) Support your answer with required working notes.
(3) Round off upto two decimal points.
(3) Use of simple calculator is allowed.

1. A newly started SSG Co.Ltd wishes to prepare Cash Budget from May. You are required

to prepare a Cash Budget for the first six months from the following estimated revenue and

expenses. : . [15 Marks]
Month Total Materials | Wages | Overheads
Sales b Production | Selling &
o ' Distribution
Rs. Rei < 4 Rs. Rs.
Rs. : ‘ v
May 20,000 20,000 4,000 | 3,200 800
June 22,000 TA000 4 o0 44007 5 5 3300 1900
July 24,000 - 14000 | 4,600 | 3;300< o 800
August 26,000 12,000 | 4600 " s ‘3,400‘ o 900
September 28,000 | 12,0001 -~ 4,800 3,500 900
October 30,000 16,000 | -~ 4,800 | 3,600 1,000

Cash balance on 1% May was Rs.10,000. A new machme is to be insta led at Rs.30,000 on
credit to be repaxd by two equa} instalments i in July and August.

Sales commission at'2. 5% on total sales is to be patd within the month following actual
sales. ‘ ; : : : 1

Rs.10,000 being the amount of second call ma}/ be recelved in July, share premium
amounting to Rs.2,000is also obtamab]e with second call. .

(a) Period of credit allowed by supphers is to be two months,

(b) Period of Credit allowed to customers is to be one month.

(c¢) Delay in payment of overheads is to be one month.

(d) Delay in payment of wages is 15 days (i.e %2 month).

(e) Assume cash sales to be 50% of total sales.

OR
1. Draw up a flexible bud,g_,et for overhead expenses on the basis of the following data and
determine the overhead rates at 70%, 80% & 90% capacity levels. |15 Marks]
Particulars n E : At 80% capacity (Rs.)
Indirect material gl A L : 8,000
Indirect labour. : _ ' , 10,000
Power (30% fixed) Sy ' 20,000
' Repairs & maintenance (60% flxed) 12,000
Deprecation 10,000
Insurance ] A 5,000
Others fixed overhead 15,000
Total overhead ~ = 80,000
Estimated direct labour hours 1, 00,000 hours
2.

Prakash- Automobiles distributes its goods to regional dealer using a single lorry. The
dealer’s premises are 40 Km away by road. The lorry has a capacity of 10 tonnes and makes
the journey twice a day fully loaded on the outward journeys and empty on return journey.

<The followmg information is available for four weekly period during the year 2018.

{15 Marks]
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Paper / Subject Code: 71803 / Cost & Management Accounting

Petrol Consumption 8 Km per litre

Perol Cost Rs.13 per litre

Oil Rs.100 per week
Driver’s Wages Rs.400 per week
Repairs Rs.100 per week
Garage Rent Rs.150 per week
Cost of lorry (excluding tyres) Rs.4,50,000

Life of lorry - 80,000 Km
Insurance - Rs.6,500 per annum
Cost of tyres S RS62507

Life of tyres e :f 25,000 Km -
Estimated sale value of lorry at the end of its hfe - Rs.50,000

Vehicle Licence Cost 4 Rs.1,300 periannum
Other overhead cost PR Rs.41,600 per annum
The lorry operates on a five day week. :

Required:

(a) A statement to show the total cost of operatmg the Vehlcle for tha four weekly period
analysed into running costs and fixed costs. :
(b) Calculate vehicle cost per kﬂometre and per tonne kllometre

OR: - '
2. From the following partlculars calculate material Varlances mcludmg material sub-
variances. The standard mix required for a product is : 15 Marks]

Material A-60% at standard prlce Rs.40: per kg and
Material B- 40% at standard price Rs 60 per kg
Normal loss is 10% of total input. 55
Actual output obtamed durmg the perlod was ? 600 umts for Wthh actual consumption
of materials are: 4 :
Material A- 2,550 kgs @ Rs 42 per kg
Material B- 1 750 kgs @ Rs 59 pel kg

3. ZLud produces and sales a C«mgle amcle at Rs 10 each. The marginal cost of production
is Rs.6 each and ﬁxed cost is Rs. 400 per annum.. [15 Marks]
Calculate: : -

(i) P/V Ratio

(i)~ - -The Break Even Sales (m Rs. And Nos:)

(iit) <“LHe sales to earn a Profit of Rs 500

(iv) - Profit at sales of Rs.3, 000 -

(v) New Break Even Point if sales price is reduced by 10%

(vi) - Margin of safety at sales 0f Rs.1,500 and

(vil) Selhng prlc.e per unit if the Break Even Point is reduced to 80 units.

OR
3. The Fmancnal Accountcmt of PSC Ltd has presented the following Product Performance
Report for the year ended 3 1'5t March 2018. [15 Marks]
Particulars - = ; Rs.
Sales @ Rs.10.per umt 10,00,000
Total Variable Cost = 7,00,000
FixedCost: a7 a0 2,00,000
Profit. o &0 1,00,000

- The Marketing Manager of the company has come up with a proposal that if the selling
price of the product is reduced by 10% the quantity sold will go up by 25%. On the other
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apprehensmn that if the selling price is mcreased by 10% the qua
You are invited by the company to analyse the situation and ady
decision with reasons.

Whether:

(i) The selling price should be increased or
(ii) The selling price should be reduced or
(iii)  The selling price should be left unchanged

4. (A) Rewrite the entire sentence selecting the 1
serial no.s without altering the order/sequence
1. Contribution is equals to
(a) Sales — Cost of sales
(b) Sales —Cost of production
(c¢) Sales —Variable Costs
(d) Sales ~Fixed Costs

2. If standard cost is lower thar
(a) Favourable
(b) Adverse
(c) Positive
(d) Negative

,thal cost is called as
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Paper / Subject Code: 71803 | Cost & Management Accounting . - :

7 A standard which is established for use unaltered for an “indefinite period is
called R S e G
(a) Current standard
(b) Ideal standard
(c) Basic standard
(d) Expected standard

8. is the cost centre or cost unit in transport costmg
(a) Passenger-kms
(b) Tonne Kms
(c) Room —days
: (d) None of the above

(B) Match the following by rewriting the columns A & B by matchmg on an ovel all rnost
appropriate basis: g S A , [07 Marks]

—

| 1. Margin of Safety
2. Limiting Factor (
3. Sales Budget P . ~Sales ~Break Even Sales
2. Decision Making o e 2@ vla il &Ko axis -
5. In the By T R Selecnon of the best alternatwe
Volume(in units :

In the Break. Even Chai’f Coqt s ’
shown on the s
| 7. Hospital =

o

= 2] Per Patienf -‘Day &

g

4. Write Short Notes on any Th_ree i) [15 Marks]
Advantages of Break —Even Chdrt: oot

Sales Vanance S %
Master Budget =~ -
Operatmg Costing of Hote[

\/Ierlts of Zero Based Budgeuhg 4

SR
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~ Paper / Subject Code: 71804 / Business Ethics & Corporate Social Responsibility

(2 Hours) Marks : 60

Note: (1) All Questions are compulsory.
(2) Figures to the right indicate full marks.

Q. 1. A)Discuss the various approaches to business ethics. (08)
B) Explain the need and importance of Business Ethics. 07
OR
C) Describe Gandhi’s Doctrine of Satya and Ahimsa. (08)
D) Explain Immanuel Kant’s Deontological theory of ethics. 07)
Q.2. A) Discuss unethical practices in advertising. (08)
B) Write a note on Ethical practices in finance and accounting. (07)
OR
C) Explain ethical practices in human resource management. 08)
D) Discuss in detail importance of Corporate Governance. 07)
Q.3. A)Explainin detail features of CSR. (08)
B) Write a note on Corporate Philanthropy. 07)
OR
C) Describe the drivers or forces influencing the growth of CSR activities. (08)
D) Comment on the future of CSR in India. 07)
4. (A) State whether the following statements are True or False. 05)

1. Renewable energy results in greater carbon emissions.

2. Business Ethics is different from Business Law.
3. Demerit goods affect the welfare of the consumers.
4. Environment sustainability reporting is mandatory in India.
5. CSR brings social change in the society.
B. Fill in the blanks with appropriate option. 05)
1) Duty theory is a type of - theory.

(Deontological, Teleological, Utilitarian)
2) The term “Triple Bottom Line’ was coined by
(John Elkington, Peter Drucker, Philip Kotler)
3) The word philanthropy comes from Greek word
(Philantrophos, Philosophy, Philantry)
4y _ helps firmsto track sales data.
(MiS, CRM,CSR)
5) The aim of fair labour association is to improve conditions in factories.

( working, welfare, women)
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Paper / Subject Code: 71804 / Business Ethics & Corporate Social Responsibility

C. Match the following: (05)
Group A Group B
1. Source of Values (a) Social Accountability International
2. CSR towards Government (b) Genetics
3. Code of Ethics (c) Fair Advertising.
4. SA 8000 (d) Taxes to be paid on time
5. Promotion Ethics (¢) Guide of Principles
OR
4. Write short notes (Any three) (15)
a) Functions of UNDP.
b) ISO 14000.

¢) Global reporting Initiative.
d) Role of HR professionals in CSR.
¢) CSR and Sustainable Development.
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¢t Code: 67521/ Group A: Advanced Accouiiting, Corporate Accounting and Financial Management: Personal |

Ml | SrEeiele

[Marks: 60]
[Time: Two Hours]
Please check whether you have got the right question paper.

N.B: 1. All questions are wmpmsmv
2. Figures to the indicate full marks.
3. All working not houxd form part of your answer. : orRs G

4. Use of simple calculator is allowed.

(
t
e
cS

Q.1 Explain the concepts of Personal Financial Planning and process of Personal 15

Financial Planiing? ‘ : %
OR

Q.1 A. what are the various stages of an investor life cycle. ‘ ; - 08

B. Lavnya made an investment of Rs. 800 that grows to Rs. 960 in 2 years. - 07

Calculate Compounded Annual Growth Rate (CAGR)?

Q.2 Explain the types of Investiment Risk. , o 15 ;
OR
Q.2. Explain various income Tax Savings Schemes. 3 ' 15

Q.3 What is Retirement Planning? Explain Pre retirement Strategies and pre-
retirement investment products. 15

A. Explain the financial objectives in Retirement Planning.

: 08
B. Explain the rights & responsibilities of the insured.
07
Q.4 A. Match the following columns. 08
Columa Column B
1. | Liability Insurance A | Basic Salary
2. | Investments B | Bonds
3. | Fixed Salary C | Basic Principle of insurance
4. Hmupu of Subrogation D | Type of asset allocation
5. | Gratuity E 80 CCC
6. | Tactical asset allocation F | Indemnity
7. | Pension Funds G | NPF ]
. 8. | Mandatory for Government H | Retirement Benefit
Employees
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- Code: 67521/ Group A: Advanced Accouriting, Corporate Accounting and Financial Manageisctit: §

07

B. State whether following statements are True or False:

1. Execution of a financial rldn doesn’t require discipline and perseverance

2. Tax evasion is considered as ethical and legal.

3. The main 'hx ction of insurance is to provide protection against risk of finance:

4. In India, BPF can be done through Index or Gold.

5. Inflation increases the p’h\,hamﬂ g power of money over time.
6. The insurance pi rovides capital to the society.
7 Direct tax is the one which is borne by the tax payer himself.
UR

Q.4 Write short notes on (Aiiy 3): : . : 15

Investing in Real Estate

Unit Linked Insurance Plans (ULIPS)
Strategic Asset Allocation

Financial risk

Secondary Functions of Insurance

Lll.bb.)[\):—
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